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Note:

(a) All questions are compulsory.

(b) The candidate is allowed to make Suitable numeric assumptions wherever required
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How does fixed pomt rcprcscnlauon differ from floating point |

representation of real numbers? Give a detailed comparison. What are |
the conditions when one is preferred over the other w.r.t. hardware |
implementations and why?

Explain the “Modulo m Addition’ dlgonthm lxplam the wmkmo of
the algorithm for the following given values.

Assume that B = 10, n=3, m =750, so that B™ — m = 250; x = 247 and
|y =391 |

lxp}dm the Booth-1 \/Iultlplm for mulhpllmlmn Give the dCtdllLd

block diagram description of various parts of booth algorithm

implementation at the hardware level.
(b) Give the implementation steps for the following inputs into Booth-

| Multiplier hardware implementation. Let X = 101011 and Y = |
| 01101 (n=6, m = 5), both given in 2°s complement representation. '
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' (omparc reconfigurable processors with other processor 1ypc<;
Explain some applications of reconfigurable processors.

[f FPGA doesn’t know which CI.Bs will be Lonnected where does it
put wires? How do FPGAs connect wires together?
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